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      M.M.=60×4=240TOTAL QUESTION :- 60

1. If A = tan 6° tan 42° and B = cot 66° cot 78°, then -

(A) A = 2B (B) A = 
3

1
B

(C) A = B (D) 3A = 2B

2. Let A, B and C are the angles of a triangle and tan
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3.  sin 



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
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is equal to -

(A) 
25

6
(B) 

25

24

(C) 
5

4
(D) – 

 
25

24

4. The value of x + y + z is 15 if a, x, y, z, b are in A.P.

while the value of  
X

1
+ 

Y

1
+ 

Z

1
 is 

3

5
 if

a, X, Y, Z, b are in H.P., then a and b are-

(A) 1, 9 (B) 3, 7

(C) 7, 3 (D) None of these

5. The number of rectangles in the adjoining figure is -

(A) 5 × 5               

(B) 5P2 × 5P2

(C) 5C2 × 5C2

(D) None of these

6. The coefficient of x5 in the expansion of

(1+ x)21 + (1+ x)22 + ...........+ (1+ x)30 is -

(A) 51C
5

(B) 9C
5

(C) 31C
6
 – 21C

6

(D) 30C
5
 + 20C

5

1. ;fn A = tan 6° tan 42° o B = cot 66° cot 78°, rc-

(A) A = 2B (B) A = 
3

1
B

(C) A = B (D) 3A = 2B

2. ekuk f=Hkqt ds rhu dks.k Øe'k% A, B rFkk C gSa rFkk 

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 cjkcj gS -

(A) 
3

1
(B) 

3

2

(C) 
9

2
(D) 

9

7

3.  sin 



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
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 dk eku gS -

(A) 
25

6
(B) 

25

24

(C) 
5

4
(D) – 

 
25

24

4. x + y + z dk eku 15 gS ;fn a, x, y, z, b l]Js- es a gS]

tcfd 
X

1
+ 

Y

1
+ 

Z

1
 dk eku 

3

5
 gS ;fn a,X, Y, Z, b g-Js-

esa gS] rks a rFkk b cjkcj gS-
(A) 1, 9 (B) 3, 7

(C) 7, 3 (D) buesa ls dksbZ ugha
5 vklUu fp= esa vk;rksa dh la[;k gS –

(A) 5 × 5                  

(B) 5P2 × 5P2

(C) 5C2 × 5C2
(D) buesa ls dksbZ ugha

6. (1+x)21 + (1+x)22 + ...........+ (1+x)30 ds izlkj esa x5

dk xq.kkad gS-
(A) 51C

5

(B) 9C
5

(C) 31C
6
 – 21C

6

(D) 30C
5
 + 20C

5

MATHEMATICS



2"THINK NDA       NDA (UPSC+SSB) Complete GTO Task
JOIN NDA"

7. The value of the expression
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1
n

1
n......

1
3

1
3 , where  is

an imaginary cube root of unity is-

(A) 
3

)3n(n 2 
(B) 

3

)2n(n 2 

(C) 
3

)1n(n 2 
(D) None of these

8. One possible equation of the chord of

x2 + y2 = 100 that passes through (1, 7) and subtends

an angle 
3

2
 at origin is -

(A) 3y + 4x – 25 = 0 (B) x + y – 8 = 0

(C) 3x + 4y – 31 = 0 (D) None of these

9. Mean of 25 observations was found to be 78.4. But

later on it was found that 96 was misread 69. The correct

mean is

(A) 79.24 (B) 79.48

(C) 80.10 (D) None of these

10. For real numbers x and y, we write

xRy  x – y + 2  is an irrational number.. Then the

relation R is -

(A) Reflexive (B) Symmetric

(C) Transitive (D) None of these

11. Domain of f(x) = |x|2

|x|1




 is -

(A) R – [–2, 2]

(B) R – [–1, 1]

(C) [–1, 1]  (–, –2)  (2, )

(D) None of these

12. If x = (t), y = (t), then 2

2

dx

yd
 is equal to -
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13. If a2x4 + b2y4 = c6, then the maximum value of xy is -
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ab2
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(D) 
ab
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1
n

1
n......

1
3

1
3 , dk eku gS]

tgk¡  bdkbZ dk dkYifud ?kuewy gS -

(A) 
3

)3n(n 2 
(B) 

3

)2n(n 2 

(C) 
3

)1n(n 2 
(D) buesa ls dksbZ ugha

8. o`Ùk x2 + y2 = 100 dh thok] tks fcUnq (1, 7) ls xqtjrh gS

rFkk ewy fcUnq ij  
3

2
 dk dks.k varfjr djrh gS] dk

lehdj.k laHkor% fuEu gksxk-
(A) 3y + 4x – 25 = 0 (B) x + y – 8 = 0

(C) 3x + 4y – 31 = 0 (D) buesa ls dksbZ ugha
9. 25 izs{k.kksa dk ek/; 78.4 ik;k x;k ijUrq ckn esa ik;k

x;k fd 96 dks xyrh ls 69 i<+k x;k rks lgh ek/;
gksxk-
(A) 79.24 (B) 79.48

(C) 80.10 (D) buesa ls dksbZ ugh
10. okLrfod la[;kvksa x rFkk y ds fy;s x R y  x – y + 2  ,d

vifjes; la[;k gS] rc lEcU/k R gS -

(A) LorqY; (B) lefer
(C) laØked (D) buesa ls dksbZ ugha

11. f(x) = 
|x|2

|x|1




 dk izkUr gS -

(A) R – [–2, 2]

(B) R – [–1, 1]

(C) [–1, 1]  (–, –2)  (2, )

(D) buesa ls dksbZ ugha

12. ;fn x = (t), y = (t), rks 2

2

dx

yd
 cjkcj gS &
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"'"'


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13. ;fn a2x4 + b2y4 = c6 ,  rks xy dk vf/kdre eku gS&
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ab2

c3
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ab2

c3
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ab

c3
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ab

c3
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14. If 
 x

x

41

2
dx = K sin–1 (2x) + C, then K is equal to-

(A) log 2 (B) 
2

1
 log 2

(C) 
2

1
(D) 2log

1

15. Let F() =


















100

0cossin

0sincos

, where R. Then

(F())–1 is equal to

(A) F (–) (B) F ( –1)

(C) F (2) (D) none of these

16. If vectors k̂ĵîa  , k̂ĵbî   and k̂cĵî 

(a  b c 1) are coplanar, then 
a1

1


+ 

b1

1


 + 

c1

1


equals-

(A) 1 (B) 0

(C) –- 1 (D) None of these

17. If A and B are two events such that P(A) = 1/3, P(B) = 1/4

and P(A B) = 1/5, then P 







A

B
=

(A) 37/40 (B) 37/45

(C) 23/40 (D) None

18. All possible 6 letter words each containing all the letters

of the word EMHORT are formed and are placed in a

dictionary order. 10 consecutive words are now drawn

at random. The probability that the word ‘MOTHER’

will be among the drawn words, is

(A) 1/72 (B) 10/711

(C) 10/719 (D) None of these

14. ;fn 
 x

x

41

2
dx = K sin–1 (2x) + C, rc K ds eku gksxk-

(A) log 2 (B) 
2

1
 log 2

(C) 
2

1
(D) 2log

1

15. eku k fd F ()=


















100

0cossin

0sincos

, tgk ¡

R rks (F())–1 dk eku gS&
(A) F (–) (B) F ( –1)

(C) F (2) (D) bueas ls dksbZ ugh
16. ;fn lfn'k k̂ĵîa  , k̂ĵbî   vkSj k̂cĵî 

(a  b c 1) leryh; gks] rks 
a1

1


+ 

b1

1


 + 

c1

1


cjkcj gS &
(A) 1 (B) 0

(C) –- 1 (D) buesa ls dksbZ ugha
17. ;fn A rFkk B nks ?kVuk,a bl izdkj gS fd P(A) = 1/3,

P(B) = 1/4 rFkk P(A B) = 1/5, rc P 







A

B
=

(A) 37/40 (B) 37/45

(C) 23/40 (D) buesa ls dksbZ ugh
18. 'kCn EMHORT ds lHkh v{kjksa dks ysdj lHkh laHko

'kCn cuk;s x;s rFkk mUgsa vaxzzsth 'kCndks"k ds Øe esa
O;ofLFkr fd;k x;k gSA ;kǹfPNd :i ls 10 Øekxr
'kCnksa dk p;u fd;k x;kA rc 'kCn 'MOTHER' ds
p;u fd;s x;s 'kCnksa esa gksus dh izkf;drk gS&
(A) 1/72 (B) 10/711

(C) 10/719 (D) buesa ls dksbZ ugh
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      ENGLISH

Directions (19-20): The following sentences consist of a

word or a phrae which is written in Bold letters. Each

of them is followed by four words or phrases. Select

the word or the phrase which is closest to the opposite

in meaning of the bold word or phrase.

19. He glaced through the letter perfunctorily.

(A) nicely (B) ceremoniously

(C) carefully (D) particularly

20. He produced cogent reasons for the change of policy

(A) flimsy (B) unconvencing

(C) improper (D) simple

Directions (22-22): Out of the four alternatives, choose the

one which can be substituted for the given words/sen

tences.

21. An apartment building in which each apartment is owned

separately by the people living in it, but also containing

shared areas.

(A) Condominium (B) Multiplex

(C) Duplex (D) Caravan

22. Science regarding principles of classification.

(A) Taxidermy (B) Taxonomy

(C) Toxicology (D) Classicology

Directions (23-24): Fill in the blanks.

23. ...........by repeated failure he presisted with his research

and finally succedded in isolating the mosquito respon-

sible for carrying malaria.

(A) Unaffected (B) Unmoved

(C) Uninfluenced (D) Undaunted

24. Colgate has also got an ambitious aim of...........an eight

percent value share of the toothpaste market by the

end of the first year.

(A) keeping (B) distributing

(C) cornering (D) soliciting

25. Find the error part:

(A) You are exprected to (B) stand by your friends (C)

when they are in difficulties (D) No error

Directions (26-27):In the following questions, the first and

the last parts of the sentence are numbered as 1 and 6.

The rest of the sentence is split into four parts and are

named as P, Q, R and S. These four parts are not given

in their proper order. Read the jumbled parts of the

sentence and find out which of the four combinations is

correct. Then find the correct answer.

26. S
1
 : There is nothing strange in the fact that so many

foreign students should wish to learn English.

S
6
 : This key will open to him whatever is valuable in

the literature of the world.

P. If any valuable books is written in another language

an English translation of it is sure to be speedily

published.

Q. Anyone who masters the English tongue acquires a

key.

R. Most books found to be generally useful are written

in English.

S. The English speaking want no monopoly of

knowledge.

Which one of the following sequences is correct?

(A) PSQR (B) SQRP

(C) RPSQ (D) PQSR

27. S
1
 : Much of our adult behaviour and our attitudes are

determined by our upbringing.

S
6
 : Psychologists have studied these forces in depth.

P :  But the process does not stop here.

Q : In particular by the effects of that small part of

society which is our family.

R : As we grow we are constantly and increasingly

affected by new forces such as the social pressure of

our friends and the largest world of society.

S : The family and our early life have profound effect

on our later life.

Which one of the following sequences is correct?

(A) SRPQ (B) PRSQ

(C) QPSR (D) QSPR

Questions (28-30):Democracy has its dangers, the greatest

of which is that it may be the rule of ignorance. Citizens

who are not........28......intelligent and educated

are.....29.....to commit errors of judgement in the

casting of votes. The best men may thus.......30......to

get elected. Elections are usually a.......24......of

propaganda.

28. (A) barely (B) sufficiently

(C) highly (D) perfectly

29. (A) sure (B) deliberately

(C) unlikely (D) likely

30. (A) fail (B) succeed

(C) try (D) desire
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31. 23YZX   find dimension of Y  in (MKSA) system, if

X  and Z  are the dimension of capacity and magnetic

field respectively

(A) 1423  ATLM (B) 2ML

(C) 4423 ATLM  (D) 4823 ATLM 

32. If  97.52 is divided by 2.54, the correct result in terms

of significant figures is

(A) 38.4 (B) 38.3937

(C) 38.394 (D) 38.39

33. The acceleration of a particle is increasing linearly with

time t  as bt . The particle starts from the origin with

an initial velocity 0v . The distance travelled by the

particle in time  will be

(A) 2
0 3

1
bttv  (B) 3

0 3
1

bttv 

(C) 3
0 6

1
bttv  (D) 2

0 2
1

bttv 

34. If a ball is thrown vertically upwards with speed u , the

distance covered during the last t  seconds of its ascent

is

(A) 2

2
1

gt (B) 2

2
1

gtut 

(C) tgtu )(  (D) ut

35. The path of a projectile in the  absence of air drag is

shown in the figure by dotted line. If the air resistance

is not ignored then which one of the path shown in the

figure is appropriate for the projectile

 

A B C D 
x 

y 

(A) B (B) A

(C) D (D) C

36. A lift is going up. The total mass of the lift and the

passenger is 1500 kg. The variation in the speed of the

lift is as given in the graph. The tension in the rope

pulling the lift at t  = 11th sec will be

(A) 17400 N         
 3.6 

sp
ee

d 
in

 m
/s

ec
 

2 10 12 

(B) 14700 N

(C) 12000 N

(D) Zer

31. ;fn X= 3YZ2 (MKSA) iz.kkyh esa Y dk foeh; lw= Kkr
dhft,] ;fn X vkSj Z Øe'k% /kkfjrk vkSj pqacdh; {ks= dh
rhozrk dks O;Dr djrs gS
(a) 1423  ATLM (b) 2ML

(c) 4423 ATLM  (d) 4823 ATLM 

32. ;fn 97.52 dks 2.54 ls foHkkftr fd;k tk,] rks lkFkZd vadksa
ds lanHkZ esa lgh ifj.kke gS
(a) 38.4 (b) 38.3937

(c) 38.394 (d) 38.39

33. ,d d.k dk Roj.k le; t ds lkFk jSf[kd bt :i ls c<+ jgk
gSA d.k ewy fcanq ls çkjafHkd osx v

0
 ls pyuk 'kq: djrk gS

rks t le; esa d.k }kjk r; dh xbZ nwjh gksxh

(A) 2
0 3

1
bttv  (B) 3

0 3
1

bttv 

(C) 3
0 6

1
bttv  (D) 2

0 2
1

bttv 

34. ;fn fdlh xsan dks u  izkjfEHkd osx ls Åij dh vksj Qsadk
tkrk gS rks vkjksg.k ds vfUre t  lsd.M esa pyh xbZ nwjh
gksxh&

(A) 2

2
1

gt (B) 2

2
1

gtut 

(C) tgtu )(  (D) ut

35. ok;q çfrjks/k dh vuqifLFkfr esa ç{ksI; dk iFk fp= esa fcUnq
js[kk }kjk n'kkZ;k x;k gSA ;fn ok;q çfrjks/k dks utj vankt
u fd;k tk,] rks fp= esa n'kkZ, x, iFkksa esa ls dkSu lk ç{ksI;
ds fy, mi;qä gS\

 

A B C D 
x 

y 

(a) B (b) A

(c) D (d) C

36. ,d fy¶V Åij tk jgh gSA fy¶V vkSj ;k=h dk dqy
æO;eku 1500 fdyksxzke gSA fy¶V dh xfr esa ifjorZu xzkQ
esa fn[kk;k x;k gSA t  = 11osa lsdaM ij fy¶V dks [khapus okyh
jLlh esa ruko gksxk
(a) 17400 N  3.6 

sp
ee

d 
in

 m
/s

ec
 

2 10 12 

(b) 14700 N

(c) 12000 N

(d) Zero

       PHYSICS
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37. What is carbogen which is used for artificial respiration?

(a) 95% O2 + 5% CO

(b) 95% CO + 5% O2
(c) 95% O2 + 5% CO2
(d) 95% CO2 + 5% O2

38. A solution of sulphuric acid in water exhibits:

(A) negative deviations from Raoult’s law

(B) positive deviations from Raoult’s law

(C) ideal properties

(D) the applicability of Henry’s law

39. The concentration of a reactant is decreased by 0.2 M

in 20 minutes. The average rate of the reaction is .

(A) 0.2 M min-1 (B) 0.02 M min-1

(C) 0.01 M min-1 (D) 1 M min-1

40. If 1 2E E  bond has given polarity,, which of the

following is/are correct about polarity?  Electronegativity

of E1 = 2.4, Q = 3.1, R = 2.6 respectively)

(A) 2E E  (B) Q R 
(C) 1 2E E  (D) 2Q E 

41.  
2

3

I

NaHCOMajor product:

(a) (b) 

(c) (d)  

42. Predict the reagents required for the conversion of but-

1-ene to 1-iodobutane.

(A) i. Nal + H3PO4 (B)  i. Nal + acetone
(C) i. HBr + Na2O2 (D)  i. HBr

    ii. Nal + acetone       ii. Nal + acetone

37. —f=e 'olu ds fy, ç;qä dkcksZtu D;k gS\
(a) 95% O2 + 5% CO

(b) 95% CO + 5% O2
(c) 95% O2 + 5% CO2
(d) 95% CO2 + 5% O2

38. ty esa lY¶;wfjd vEy dk foy;u çnf'kZr djrk gS%
(a) jkmYV ds fu;e ls _.kkRed fopyu
(b) jkmYV ds fu;e ls /kukRed fopyu
(c) vkn'kZ xq.k
(d) gsujh ds fu;e dh ç;ksT;rk

39. ,d vfHkdkjd dh lkaærk 20 feuV esa 0.2 M de gks tkrh
gSA vfHkfØ;k dh vkSlr nj gS
(a) 0.2 M min-1 (b) 0.02 M min-1

(c) 0.01 M min-1 (d) 1 M min-1

40. ;fn 1 2E E   ca/k esa /kzqork nh xbZ gS] rks /kzqork ds ckjs esa

fuEufyf[kr esa ls dkSu lk@ls dFku lgh gS@gSa\ ;fn fo|qr

_.kkRedrk Øe'k% E1 = 2.4, Q = 3.1, R = 2.6 gSA
(a) 2E E  (b) Q R 
(c) 1 2E E  (d) 2Q E 

41.  
2

3

I

NaHCO eq[; mRikn:

(a) (b) 

(c) (d)  

42. C;wV&1&bZu dks 1&vk;ksMksC;wVsu esa :ikUrfjr djus ds fy, vko';d

vfHkdeZd gS

(a) i. Nal + H3PO4 (b)  i. Nal + acetone
(c) i. HBr + Na2O2 (d)  i. HBr

    ii. Nal + acetone        ii. Nal + acetone

     CHEMISTRY
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43. Match List-I with List-II and select the correct answer

using the codes given below.

List-I List-II

(Cell Organelles) (Functions)

A. Mitochondria 1. Photosynthesis

B. Chloroplast 2. Protein Synthesis

C. Ribosomes 3. Intracellular Digestion

D. Lysosomes 4. ATP Formation

Codes

     A  B  C  B      A  B  C  D

(A) 3  1  2  4 (B) 3  2  1   4

(C) 4  1  2  3 (D) 4  2  1   3

44. Statement I- Complex tissue is made up of more than

one type of cells.

Statement II- Meristems are examples of permanent

tissue

Choose the correct option

(A) Statement I is correct, but statement II in incorrect

(B) Statement I is incorrect, But statement II is correct

(C) Both statements I and II are correct

(D) Both statements I and II are incorrect

45. Match the following columns.

Column I Column II

A. Areolar tissue            1. Ear pinna and sternum

B. Cartilage                   2. Connect musles to bone

C. Ligaments                 3. Fibroblasts and mast cells

D. Tendons                   4. Connects bone to bone

Codes

     A  B  C  B      A  B  C  D

(A) 2  3  1  4 (B) 3  1  4   2

(C) 3  1  2  4 (D) 1  3  2   4

46. Which of the following statements are correct regarding

common differences between plant and animal cells?

I. Plant cells have celluosic cell wall, while animals

cells lack it.

II. Plant cells lack plasma membrane, while animal cells

have it.

III. Mature plant cells have a large vacuole, while

animal cells have numerous small vacuoles.

(A) I and II (B) II and III

(C) I and III (D) I, II and III

       BIOLOGY

43. lwph&I dks lwph&II ls lqesfyr dhft, vkSj uhps fn, x,
dwVksa dk ç;ksx djds lgh mÙkj pqfu,A
lwph&I lwph&II

¼dksf'kdk vaxd½ ¼dk;Z½
A. ekbVksd‚fUMª;k 1. çdk'k la'ys"k.k
B. DyksjksIykLV 2. çksVhu la'ys"k.k
C. jkbckslkse 3. var%dksf'kdh; ikpu
D. ykblkslkse 4. ,Vhih fuekZ.k
Codes

     A  B  C  B      A  B  C  D

(A) 3  1  2  4 (B) 3  2  1   4

(C) 4  1  2  3 (D) 4  2  1   3

44. dFku I- tfVy Ård ,d ls vf/kd çdkj dh dksf'kdkvksa
ls cus gksrs gSaA
dFku II- foHkT;ksrd LFkk;h Ård ds mnkgj.k gSaA

lgh fodYi pqusaA
(A) dFku I lgh gS] ysfdu dFku II xyr gSA
(B) dFku I xyr gS] ysfdu dFku II lgh gSA
(C) dFku I vkSj II nksuksa lgh gSaA
(D) dFku I vkSj II nksuksa xyr gSaA

45. fuEufyf[kr LraHkksa dk feyku djsaA
LraHk I LraHk II

A. ,fj;ksyj Ård 1. d.kZifYydk vkSj mjksfLFk
B. mikfLFk 2. ekalisf'k;ksa dks gM~Mh ls

   tksM+rk gS
C. Luk;qca/ku 3. QkbczksCykLV vkSj ekLV

   dksf'kdk,¡
D. daMjk 4. gM~Mh dks gM~Mh ls tksM+rk

   gS
Codes

     A  B  C  B      A  B  C  D

(A) 2  3  1  4 (C) 3  1  4   2

(B) 3  1  2  4 (D) 1  3  2   4

46. ikni vkSj tarq dksf'kdkvksa ds chp lkekU; varj ds laca/k esa

fuEufyf[kr esa ls dkSu ls dFku lgh gSa\

I. ikni dksf'kdkvksa esa lsY;wvksfld dksf'kdk fHkfÙk gksrh gS] tcfd

tarq dksf'kdkvksa esa bldk vHkko gksrk gSA

II. ikni dksf'kdkvksa esa IykTek f>Yyh dk vHkko gksrk gS] tcfd

tarq dksf'kdkvksa esa ;g gksrh gSA

III. ifjiDo ikni dksf'kdkvksa esa ,d cM+h fjfädk gksrh gS] tcfd

tarq dksf'kdkvksa esa vusd NksVh fjfädk,¡ gksrh gSaA

(A) I vkSj II (B) II vkSj III

(C) I vkSj III (D) I, II vkSj III
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47. Polynucleotide chain of DNA contains

(A) a nitrogenous base, deoxyribose sugar and phos-

phate group

(B) a nitrogenous sugar, ribose sugar and phosphate

group

(C) deoxyribose sugar, ribose sugar and phosphate group

(D) a nitrogenous base and phosphate group only

48. Which of the following plant hormones are incorrectly

paired?

(A) Abscisic acid - Transpiration

(B) Cytokinins - Delay in senescence

(C) Auxin - Apical dominance

(D) Gibberelin - Bud and seed dormancy

49. Which of the following are the three jewels of Jain

religion?

I. United Provinces

II. Right Knowledge

III. Right Action

IV. Right Speech

(A) I, II and III only (B) I, III and IV only

(C) II, III and IV only (D) All of the above

50. Consider the following statements about Buddhism.

1. The second Buddhist council was presided over by

“Sabakami” and “Abhibhamma Pitaka” was established.

2. In Buddhism, the birth of Buddha is symbolized by

“Lotus and Bull”.

Select the correct answer using the code given below

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither I nor 2

51. What could be the main reason/reasons for the

formation of African and Eurasian desert belt?

1. It is located in the sub-tropical high pressure cells.

2. It is under the influence of warm ocean currents.

Which of the statements given above is/are correct in

this context?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

47. Mh,u, dh i‚yhU;wfDy;ksVkbM J`a[kyk esa 'kkfey gSa

(a) ,d ukbVªkstuh {kkj] Mhv‚Dlhjkbckst 'kdZjk vkSj Q‚LQsV

lewg

(b) ,d ukbVªkstuh 'kdZjk] jkbckst 'kdZjk vkSj Q‚LQsV lewg

(c) Mhv‚Dlhjkbckst 'kdZjk] jkbckst 'kdZjk vkSj Q‚LQsV lewg

(d) dsoy ,d ukbVªkstuh {kkj vkSj Q‚LQsV lewg

48. fuEufyf[kr esa ls dkSu ls ikni gkeksZu xyr ;qfXer gSa\

(a) ,fClfld vEy & ok"iksRltZu

(b) lkbVksdkbfuu & th.kZrk esa foyac

(c) v‚fDlu & 'kh"kZLFk çHkqRo

(d) ftCcjsfyu & dyh vkSj cht çlqfIr

49. fuEufyf[kr esa ls tSu èkeZ ds rhu jRu dkSu ls gSa\

I. la;qä çkar
II. lgh Kku
III. lgh dkjZokÃ
IV. lgh ok.kh
(a) I, II and III only (b) I, III and IV only

(c) II, III and IV only (d) All of the above

50. ckS) èkeZ ds ckjs esa fuEufyf[kr dFkuksa ij fopkj djsaA
1. f}rh; ckS) laxhfr dh vè;{krk ÞlcdkehÞ us dh rFkk
ÞvfHkHkEe fiVdÞ dh LFkkiuk gqÃ
2. ckS) èkeZ esa cq) ds tUe dks Þdey vkSj cSyÞ ds çrhd ds
:i esa n’kkZ;k x;k gSA
uhps fn, x, dksM dk mi;ksx djds lgh mÙkj pqusa
(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither I nor 2

51. vÝhdh vkSj ;wjsf’k;kÃ jsfxLrku csYV ds fuekZ.k dk eq[;
dkj.k D;k gks ldrk gS\
1. ;g miks".kdfVcaèkh; mPp ncko dksf’kdkvksa esa fLFkr gSA
2. ;g xeZ leqæh èkkjkvksa ds çHkko esa gSA
bl lanHkZ esa Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

GENERAL APTITUDE
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52. Which one among the following is the correct order of

tiger reserves situated from North to South in India?

(A) Corbett - Periyar - Simlipal - Sariska

(B) Periyar - Sariska - Simlipal - Corbett

(C) Corbett - Sariska - Simlipal - Periyar

(D) Periyar - Simlipal - Sariska - Corbett

53. Match List I with List II and select the correct answer

using the code given below the Lists:

List I(Place) List II(Mineral)

A. Lakwa 1. Copper

B. Malanjkhand 2. Petroleum

C. Kalakot 3. Zinc

D. Zawar 4. Coal

(A) A-3; B-4; C-1; D-2 (B) A-3; B-1; C-4; D-2

(C) A-2; B-1; C-4; D-3 (D) A-2; B-4; C-1; D-3

54. Match List I with List II and select the correct answer

using the code given below the Lists:

List I(Mineral deposit) List II(State)

A. Gypsum 1. Odisha

B. Graphite 2. Gujarat

C.Fluorspar 3.  Arunachal Pradesh

D. Nickel 4.  Rajasthan

Code:

(A) A-1; B-3; C-2; D-4 (B) A-1; B-2; C-3; D-4

(C) A-4; B-3; C-2; D-1 (D) A-4; B-2; C-3; D-1

55. Consider the following statements:

1. British colonialism continued to grow steadily in the

18th and 19th centuries

2. Raw cotton for the textile industry in Britain during

the industrial revolution needed to be imported

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

56. Although used earlier by French and German writers,

the term ‘Industrial Revolution’ in English was first

popularized by

(A) Adam Smith (B) Arnold Toynbee

(C) James Mill (D) Bertrand Russell

52. fuEufyf[kr esa ls dkSu lk Hkkjr esa mÙkj ls nf{k.k rd fLFkr
ck?k vHk;kj.;ksa dk lgh Øe gS\½
(a) d‚csZV & isfj;kj & fleyhiky & lfjLdk
(b) isfj;kj & lfjLdk & fleyhiky & d‚csZV
(c) d‚csZV & lfjLdk & fleyhiky & isfj;kj
(d)isfj;kj & fleyhiky & lfjLdk & d‚csZV

53. lwph I dks lwph II ls lqesfyr dhft, vkSj lwfp;ksa ds uhps
fn, x, dwV dk ç;ksx djds lgh mÙkj pqfu,%½
List I¼LFkku½ List II ¼[kfut½
A. ydok 1. rk¡ck
B. eyat[kaM 2. isVªksfy;e
C. dkyk dksV 3. Çtd
D. t+koj½ 4. dks;yk
(a) A-3; B-4; C-1; D-2 (b) A-3; B-1; C-4; D-2

(c) A-2; B-1; C-4; D-3 (d) A-2; B-4; C-1; D-3

54. lwph I dks lwph II ls lqesfyr dhft, vkSj lwfp;ksa ds uhps
fn, x, dwV dk ç;ksx djds lgh mÙkj pqfu,%½
List I ¼[kfut HkaMkj½ List II ¼jkT;½
A. ftIle 1.vksfM’kk
B.  xzsQkbV 2. xqtjkr
C.¶yksjLikj 3. v#.kkpy çns’k
D. fudy 4. jktLFkku

Code:

(a) A-1; B-3; C-2; D-4 (b) A-1; B-2; C-3; D-4

(c) A-4; B-3; C-2; D-1 (d) A-4; B-2; C-3; D-1

55. fuEufyf[kr dFkuksa ij fopkj dhft,%
1. 18oÈ vkSj 19oÈ 'krkCnh esa fczfV’k mifuos’kokn yxkrkj
c<+rk jgkA
2. vkS|ksfxd Økafr ds nkSjku fczVsu esa diM+k m|ksx ds fy,
dPps dikl dk vk;kr djuk iM+rk FkkA
Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
(a) dsoy 1 (b) dsoy 2

(c) 1 o 2 nksuksa (d) u rks 1 u gh 2
56. gkyk¡fd igys Ýkalhlh vkSj teZu ys[kdksa }kjk ç;qä] vaxzsth

esa *vkS|ksfxd Økafr* 'kCn dk loZçFke çpyu fdlds }kjk
gqvk Fkk\
(a) ,Me fLeFk (b) vuksZYM V‚;uch
(c) tsEl fey (d) cVªs±M jlsy
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57. lfou; voKk vkanksyu ds lacaèk esa fuEufyf[kr esa ls dkSu
lk@ls dFku lgh gS@gSa\
1. bl vkanksyu dks O;kikfjd lewgksa vkSj fdlkuksa ls O;kid
leFkZu feykA
2. ;g vkanksyu egkjk"Vª esa cM+s iSekus ij Jfed vkanksyu ds
lkFk gqvkA
3. bl vkanksyu esa odhyksa vkSj Nk=ksa dh O;kid Hkkxhnkjh
jghA
uhps fn, x, dwV dk ç;ksx djds lgh mÙkj pqusa%
(a) dsoy 1 (b) dsoy 1 vkSj 2

(c) dsoy 2 vkSj 3 (d) dsoy 1, 2 vkSj 3

58. lSU; fo’ks"krk Þvej&uk;d ç.kkyhÞ fdl lkezkT; ls lacafèkr
gS\
(a) pksy (b) fot;uxj

(c) eqxy (d) ejkBk
59. fuEufyf[kr esa ls fdlds dkj.k egklkxjksa vkSj leqæksa esa

Tokj&HkkVk vkrk gS\
1. lw;Z dk xq#Rokd"kZ.k cy
2. paæek dk xq#Rokd"kZ.k cy
3. i`Foh dk vidsUæh; cy
(a) dsoy 1 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3 (d) 1, 2 vkSj 3

60. fuEufyf[kr esa ls dkSu egk}hih; foLFkkiu dh ?kVuk dk
çek.k gS\
1. czkt+hy vkSj if’pe vÝhdk dh çkphu 'kSy ifê;ksa dk
feyku
2. czkt+hy ds iBkj ls fudys ?kkuk ds Lo.kZ HkaMkj] tc mUgsa
tksM+k x;k
3. Hkkjr esa xksaMokuk ryNV vU; nf{k.kh egk}hiksa ls esy
[kkrs gSa
(a) dsoy 1 vkSj 2 (b) dsoy 2 vkSj 3

(c) dsoy 1 vkSj 3 (d) 1, 2 vkSj 3

57. Which of the following statements with regards to the

Civil Disobedience movement is/are correct?

1. The movement received massive response from

business groups and peasantry

2. The movement coincided with large scale labour

upsurge in Maharashtra

3. The movement was marked by the mass participation

of lawyers and students

Select the correct answer using the code given below:

(A) 1 only (B) 1 and 2 only

(C) 2 and 3 only (D) 1, 2 and 3

58. The military feature “Amara-Nayaka system” is related

to which empire?

(A) Chola (B) Vijayanagara

(C) Mughal (D) Maratha

59. Tides occur in the oceans and seas due to which among

the following?

1. Gravitational force of the Sun

2. Gravitational force of the Moon

3. Centrifugal force of the Earth

(A) 1 only (B) 2 and 3 only

(C) 1 and 3 only (D) 1, 2 and 3

60. Which of the following serve as evidence for the

phenomenon of continental drift?

1. Matching ancient rock belts from Brazil and West

Africa

2. Gold deposits of Ghana originating from the Brazil

plateau when joined

3. Gondwana sediments in India matching those in other

southern continents

(A) 1 and 2 only (B) 2 and 3 only

(C) 1 and 3 only (D) 1, 2 and 3


